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CIEF10_X spectral tristimulus values Ysum=100
z−F10_X,s(λ)=A31l

−
F10_X,s(λ)+A32m

−
F10_X,s(λ)

+A33m
−

F10_X,s(λ)
A3j 0,000 0,000 2,1468 (λ=440)

D65:Σz−F10_X,s(λ)=107,66
xF10_X,s=0,3133
yF10_X,s=0,3306
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CIEF10_X spectral tristimulus values Ysum=100
z−F10_X,s(λ)=A31l

−
F10_X,s(λ)+A32m

−
F10_X,s(λ)

+A33m
−

F10_X,s(λ)
A3j 0,000 0,000 2,1468 (λ=440)

D50:Σz−F10_X,s(λ)=80,59
xF10_X,s=0,3484
yF10_X,s=0,3607
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CIEF10_X spectral tristimulus values Ysum=100
z−F10_X,s(λ)=A31l

−
F10_X,s(λ)+A32m

−
F10_X,s(λ)

+A33m
−

F10_X,s(λ)
A3j 0,000 0,000 2,1468 (λ=440)

P40:Σz−F10_X,s(λ)=63,36
xF10_X,s=0,3831
yF10_X,s=0,3775
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CIEF10_X spectral tristimulus values Ysum=100
z−F10_X,s(λ)=A31l

−
F10_X,s(λ)+A32m

−
F10_X,s(λ)

+A33m
−

F10_X,s(λ)
A3j 0,000 0,000 2,1468 (λ=440)

A00:Σz−F10_X,s(λ)=33,88
xF10_X,s=0,4527
yF10_X,s=0,4087
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CIEF10_X spectral tristimulus values Ysum=100
z−F10_X,s(λ)=A31l

−
F10_X,s(λ)+A32m

−
F10_X,s(λ)

+A33m
−

F10_X,s(λ)
A3j 0,000 0,000 2,1468 (λ=440)

E00:Σz−F10_X,s(λ)=100,18
xF10_X,s=0,3331
yF10_X,s=0,3330
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CIEF10_X spectral tristimulus values Ysum=100
z−F10_X,s(λ)=A31l

−
F10_X,s(λ)+A32m

−
F10_X,s(λ)

+A33m
−

F10_X,s(λ)
A3j 0,000 0,000 2,1468 (λ=440)

C00:Σz−F10_X,s(λ)=116,53
xF10_X,s=0,3101
yF10_X,s=0,3185



BE461−6A_1

wavelength λ /nm
400 500 600 700

0,0

2,5

5,0

7,5

10

CIEF10_X spectral tristimulus values Ysum=100
z−F10_X,s(λ)=A31l

−
F10_X,s(λ)+A32m

−
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+A33m
−

F10_X,s(λ)
A3j 0,000 0,000 2,1468 (λ=440)

P00:Σz−F10_X,s(λ)=80,59
xF10_X,s=0,3617
yF10_X,s=0,3534
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CIEF10_X spectral tristimulus values Ysum=100
z−F10_X,s(λ)=A31l

−
F10_X,s(λ)+A32m

−
F10_X,s(λ)

+A33m
−

F10_X,s(λ)
A3j 0,000 0,000 2,1468 (λ=440)

Q00:Σz−F10_X,s(λ)=124,07
xF10_X,s=0,3054
yF10_X,s=0,3099


